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#1 B RRAR
o} HE X oKX oK X ZOK X
L AR (g/R) 848.8 = 37.9 907.7 = 81.7 985.8 = 179.4 940.0 £55.7
110kgZIZE R (H) 151.2 = 9.1 147.7 £ 7.3 144.4 + 10.4 147.2 = 9.4
%igafﬁfmkg) 46.2 = 3.8 43.6 = 6.1 39.2 £ 8.0 42.0 £ 4.9
fEHE R (ke/ H) 3.03 = 0.01 2.99 = 0.02 3.01 = 0.03 3.03 =0.01
fRLELRER 3.57 = 0.17 3.32 = 0.31 3.13 £ 0.48 3.52 = 0.88
ERA B A R 2
# 2 EAE
kX BK X K X YK
BB IRE (kg) 70.2 £1.1 70.0 =2.0 70.0 £2.1 69.7 =3.6
iRk 1 (cm) 93.3 =2.7 92.9 =2.7 92.2 +1.6 90.9 =1.7
TR (cm) 68.5 +2.8 67.6 2.8 68.0 =1.1 66.7 =1.1
JE AR (cm) 31.6 1.8 31.9 £1.5 33.8 2.3 33.1 =1.8
RN (cm)
s 4.0 £0.5 3.9 £0.2 3.8 £0.2 3.5 =0.2
t 2.0 £0.3 2.3 0.3 2.1 £0.5 1.9 £0.2
a2V 3.4 =0.1 3.5 =0.5 3.5 0.3 3.2 £0.2
Al 3.0 =0.4 3.0 =0.5 3.1 =0.5 2.7 =0.3
v Hh 2.1 +0.3 2.3 0.2 2.1 £0.5 2.0 =0.3
# 3.0 =0.2 3.2 +0.3 3.1 £0.7 2.8 0.5
AT TSR (cm) 1.7 0.2 1.9 +£0.3 1.7 £0.4 1.5 £0.2
KEIA R EIE %)
o 30.5 =1.3 30.0 =1.6 31.0 =1.0 29.8 =1.1
o—2Z « N7 39.9 =0.7 40.0 =1.0 38.9 =1.2 40.4 =1.7
T 29.6 =1.3 30.0 £1.1 30.2 +0.4 29.8 =1.8
2 — A W i i (cm®) 18.2 £3.2 21.4 +2.6 20.3 =4.7 21.2 =3.2
S £ A AR 7
3 WEREE
it HEX Bk X Bk X ZKX
Koy E & (%) 73.2 + 0.9 73.8 + 0.8 73.8 + 0.8 73.2 =+ 0.3
fip (cm’/g) 33.2 + 1.3 35.2 + 2.8 34.9 + 3.5 32.3 =+ 1.6
IFEARIK S %) 86.4 + 1.8 87.9 + 2.8 86.1 + 3.2 84.9 + 1.6
TNER %) 18.4 = 3.2 20.9 + 4.9 19.3 = 4.1 7.2+ 3.9
JEHERH- %) 48.2 + 3.2 45.8 * 2.5 46.9 + 1.8 471 + 2.0
KUy 7rA (4HH) ) 7.1 + 3.1 15.8 + 3.9 13.1 = 4.3 136 4 33
AWl (kg/cm®) 4.8 + 1.9 5.0 = 1.0 4.7 *+ 1.6 5.2 + 0.3
NN AR I & %) 2.8 = 0.3 2.6 = 0.5 2.4 * 0.6 2.6 4 0.2
PN HE N §©) 37.7 + 0.8 35.3 + 1.4 35.8 + 1.7 366 + L5
17— 2 A
L* 51.3 + 2.3 51.5 + 2.7 51.0 = 1.6 o°L1 + 2.5
a% 8.5 = 0.9 6.9 = 1.1 8.0 = 1.5 6.8 + 1.9
b 3.5 = 0.8 3.1 = 0.5 3.3 = 0.7 2.9 4+ 0.9
el
L* 77.5 = 1.0 78.0 = 1.0 78.5 + 1.4 8.0 4+ 1.2
a% 4.4 + 1.3 4.3 + 0.6 4.5 + 1.2 3.9 4+ 0.9
b 5.3 + 1.1 5.0 & 0.9 5.6 + 0.5 43 + 0.6
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